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AL |HiFE & Hif 2 | #22f |GROSS|HDCP| NET AL |HiFE & A | #22: |GROSSHDCP| NET AL | Bt & Hif 2 | #22 |GROSSHDCP| NET AL |HiFE & A | #22: |GROSSHDCP| NET
1 |HS BA 42 | 39 | 81 |10.8]70.2 26 [IUA & 49 | 51 |100(27.6|72.4 51 [IUA G 41 | 42| 83 |9.6|73.4 76 |RE EE 53 | 50 [103]28.8[74.2
2 |l ExR 47 | 40 | 87 |16.8]70.2 27 |BH BEE 50 | 50 | 100(27.6|72.4 52 [HIF f& 41 | 48 | 89 |15.6|73.4 77 | A A& 43| 41 | 84 | 9.6 |74.4
3 |{EK 5EKk | 43| 43 | 86 |15.6[70.4 28 (MM LR 43 | 44 | 87 |14.4|72.6 53 BEAK & 47 | 48 | 95 [21.6|73.4 78 [ILH FEF 47 | 43 | 90 [15.6|74.4
4 /NI &7 | 45 | 45 | 90 |19.2]70.8 29 [+ B 46 | 47 | 93 |20.4|72.6 54 |NH #B— 44 | 44 | 88 |14.4|73.6 79 |[&H E2 47 | 43 | 90 |15.6|74.4
5 |&JI| Z8] 46 | 43 | 89 |18.0|71.0 30 |EERE &R | 40 | 53 | 93 [20.4(72.6 55 |&)I| #E 42 | 46 | 88 [14.4|73.6 80 | AR #5 43 | 47 | 90 [15.6|74.4
6 |EHEF HiX1F | 45| 50 | 95 |24.0|71.0 31 [dil #F 40 | 46 | 86 [13.2|72.8 56 |&HH HF— 53 | 47 | 100(26.4|73.6 81 [EO & 51 | 45| 96 |21.6|74.4
7 & E= 41 | 41 | 82 |10.8|71.2 32 |f&A BR 43 | 43 | 86 [13.2|72.8 57 |HH & 44 | 43 | 87 [13.2|73.8 82 |HEH ELfE | 50 | 46 | 96 [21.6(74.4
8 |iA Ek 42 | 44 | 86 |14.4|71.6 33 |BEE E— 43 | 49 | 92 [19.2]|72.8 58 | Bt FH= 45 | 42 | 87 [13.2]|73.8 83 |Efih Bk 49 | 47 | 96 [21.6|74.4
9 |&H 5.4 41 | 45 | 86 |14.4|71.6 34 |IUHE & 45 | 47 | 92 |19.2]|72.8 59 |# E— 45 | 48 | 93 [19.2]|73.8 84 |FE B4 49 | 53 |102(27.6|74.4
10 |7 8 43 | 49 | 92 |20.4|71.6 35 |Ab @k 52 | 46 | 98 |25.2(72.8 60 [/MAE =28 | 44 | 49 | 93 |19.2|73.8 85 [kl MEkR 47 | 48 | 95 [20.4|74.6
11 |FHEE —1 46 | 46 | 92 [20.4|71.6 36 [FH 50K 49 | 49 | 98 [25.2|72.8 61 [ WIE 49 | 56 [ 105(31.2|73.8 86 [l #r= 49 | 46 | 95 [20.4|74.6
12 |IUH =i 47 | 45 | 92 |20.4|71.6 37 |[FAH 49 | 49 | 98 |25.2|72.8 62 |+ Rz 44 | 42| 86 [12.0|74.0 87 |taE *HA 53 | 42 | 95 |20.4|74.6
13 |&H &% 41 | 37 | 78 | 6.0 |72.0 38 | K JE— 56 | 48 |104(31.2|72.8 63 |MA 45 | 41 | 86 [12.0]74.0 88 |HAE EE 53 | 48 | 101 |26.4|74.6
14 |68 & 41 | 43 | 84 |12.0{72.0 39 | BT #k 40 | 39 | 79 | 6.0 [73.0 64 |#ha ME 44 | 48 | 92 [18.0(74.0 89 |JIIFT it 45 | 43 | 88 [13.2|74.8
15 |%A B+ 45 | 45 | 90 [18.0(72.0 40 |gRE FOth 45 | 40 | 85 [12.0(73.0 65 |#k IE# 44 | 48 | 92 [18.0[74.0 90 |3EH FI5 50 | 44 | 94 |19.2]|74.8
16 |#B52 A 49 | 47 | 96 [24.0[72.0 4] |f8H BHEF | 45| 40 | 85 |12.0|73.0 66 |1FaT EE 47 | 51 | 98 [24.0[74.0 91 |WhE BT+ 51 | 43 | 94 [19.2(74.8
17 |'=/ B+ | 53 | 43 | 96 |24.0]72.0 42 |/ HEX 47 | 50 | 97 [24.0[73.0 67 |l 2 48 | 50 | 98 [24.0[74.0 92 |HE I A7 | 47 | 94 [19.2|74.8
18 |f#ic &H— 38 | 39| 77 |4.8|72.2 43 |8 = 5L 55 | 48 |10330.0[73.0 68 =& &5 40 | 45 | 85 [10.8|74.2 93 | EA 47 | 47 | 94 |19.2]|74.8
19 |/NFG ik 44 | 39 | 83 (10.8]72.2 44 110 &+ 41 | 43 | 84 [10.8|73.2 69 |SFM R 44 | 41 | 85 |10.8|74.2 94 [7EK RE 50 | 50 [100 (25.2(74.8
20 |RE B 38 | 45 | 83 [10.8]72.2 45 |)IIAF 2= | 46 | 44 | 90 [16.8]73.2 70 |FEA 5F 45 | 46 | 91 [16.874.2 95 |t 15 48 | 52 [ 100 (25.2|74.8
21 |[fBH & 46 | 43 | 89 |16.8(72.2 46 |14t FETH 46 | 44 | 90 [16.8]73.2 71 |18 &34 45 | 46 | 91 [16.8|74.2 96 |l ik 51 | 61 |112(37.2(74.8
22 |B 4kt HiEE | 44 | 51 | 95 [22.8]72.2 47 |BRA Z2H] 43 | 47 | 90 [16.8]73.2 72 |HRIL BN 45 | 46 | 91 [16.8(74.2 97 |Wyi5 FlF 44 | 49 | 93 [18.0(75.0
23 | Mt 40 | 48 | 88 |15.6(|72.4 48 |FH HEx 45 | 45 | 90 [16.8]73.2 73 |fEH A= 47 | 50 | 97 [22.8|74.2 98 |E B0 50 | 43 | 93 [18.0{75.0
24 & BH 44 | 50 | 94 |21.6(|72.4 49 |2 H F£E 50 | 46 | 96 [22.8[73.2 74 | BBA 47 | 50 | 97 [22.8|74.2 99 &Il I 46 | 47 | 93 [18.0(75.0
25 [/Nik 49 | 45 | 94 |21.6(|72.4 50 |HaiE 15 H] 40 | 43 | 83 |9.6|73.4 75 |FE Fig 53 | 44 | 97 (22.8[74.2| |100 (b4t Bkt 47 | 52 | 99 [24.0(75.0




EAL |BiTE % I [ 22 |GROSS|HDCP| NET EAL |BiTE % A3 | #24 [GROSSHDCP| NET EAL |BiTE % A3 | #24 [GROS§HDCP| NET BRI |BiFE % A | #24 [GROS§HDCP| NET
101 |FH BB 49 | 50 | 99 [24.0{75.0 131 |7k =2— 43 | 51 | 94 [18.0(76.0 161 |2 E5B 44 | 50 | 94 [16.8|77.2 191 |%H B 58 | 56 | 114 {36.0|78.0
102|/N1] &4 49 | 56 |105(30.0[75.0 132 |#ER fok 45 | 49 | 94 [18.0(76.0 162 | KH #I#% 45 | 49 | 94 [16.8(77.2 192 | VLR B 43 | 46 | 89 [10.8(78.2
103 |kt B— 38 | 42| 80 | 4.8|75.2| |[133|/\fk ERF | 52 | 48 [100(24.0(76.0 | 163 |#AFH: FHist 45 | 49 | 94 [16.8|77.2| |193|Lft fE=F 50 | 45 | 95 |16.8(78.2
104 |14 &2 43 | 43 | 86 |10.8|75.2| [134|®#t &G 50 | 50 |100|24.0({76.0| |164|%HE 25 49 | 51 |100(22.8|77.2| [194|&a0O FHiE 53 | 48 | 101|22.8[78.2
105|H* A— 47 | 45 | 92 |16.8|75.2| |135|@E &L 42 | 45| 87 [10.8]|76.2| |[165|F K #&F 47 | 53 1100(22.8|77.2| [195|LA fE— 48 | 46 | 94 [15.6|78.4
106 |B73E Eig 45 | 47 | 92 [16.8]75.2 136|F K EE 43 | 44 | 87 [10.8]76.2 166 | KK EZ 49 | 57 {106 (28.8|77.2 196 |18 FEE 47 | 47 | 94 |15.6|78.4
107 [ILE HE&B 50 | 48 | 98 (22.8]75.2| |137|i+ &— 45 | 48 | 93 [16.8]|76.2| [167 |t =F 53 | 53 [106(28.8[77.2| |197 |B5lE i 51 | 43 | 94 [15.6|78.4
108 |E2H A 54 | 50 | 104 (28.8|75.2| |138|/NFG ZA¥KHE | 43 | 50 | 93 |16.8(76.2| |168|fEA BEE 56 | 56 | 112]34.8[77.2| |198|E =E 49 | 51 [100|21.6|78.4
109|1Ih O 4] 44 | 41 | 85| 9.6 |75.4 139 | kM = 48 | 51 | 99 [22.8(76.2| |169|%EH REHI 45 | 42 | 87 | 9.6 [77.4] [199|it EF 50 | 56 | 106|27.6|78.4
110 | &8 E—BB | 43 | 48 | 91 |15.6(75.4| |140|Ewk # 48 | 44 | 92 [15.6(|76.4| |170|FEH ¥k 47 | 46 | 93 [15.6|77.4| [200|FG)Il BEB—EF | 51 | 55 [ 106|27.6|78.4
111 [/NEH FRE 46 | 45 | 91 |15.6|75.4 141 |l ZEXK 52 | 46 | 98 |21.6|76.4 171 |[*REF = 42 | 51 | 93 [15.6(77.4| [201[3FAK EA 42 | 51 | 93 [14.4|78.6
112 |1 =2 50 | 47 | 97 |21.6|75.4 142 |/NE BE 49 | 49 | 98 [21.6|76.4 172 (PR 5% 55 | 44 | 99 |21.6|77.4| |202|M=E 49 | 44 | 93 |14.4|78.6
113 |=)Il & 52 | 45 | 97 |21.6|75.4 143 | &t FE 50 | 48 | 98 |21.6|76.4| | 173 | H& 46 | 46 | 92 [14.4|77.6| |203|%KE £ 45 | 48 | 93 [14.4|78.6
114 |[LHE 48 47 | 50 | 97 |21.6|75.4| |144|[F E& 48 | 50 | 98 |21.6|76.4| |174|FAR A1ZHE | 42| 50 | 92 [14.4|77.6| |204|RER &IA 49 | 50 | 99 [20.4|78.6
115|454 & 46 | 51 | 97 |21.6|75.4| |145|F/H B= 53 | 51 [104|27.6|76.4| |175|#FE EAE | 50 | 48 | 98 |20.4|77.6| |205|FF [5—EB | 56 | 49 | 105 |26.4|78.6
116 |i+ 5B 49 | 54 |103(27.6|75.4| | 146|#AK THED 42 | 43| 85 [ 8.4|76.6] |[176|MH {EER | 48 | 50 | 98 |20.4|77.6| |206|MA BEX 58 | 53 | 111 |32.4[78.6
117 | £&F 34 50 | 53 | 103 (27.6|75.4| |147|)I1% B E 46 | 45 | 91 |14.4|76.6| |177|TfE IE 51 | 53 | 104 (26.4|77.6| |207|&F & 59 | 52 | 111 |32.4[78.6
118 [{#&JE %(E 61 | 54 | 115 [39.6(75.4 148|HF A — 46 | 51 | 97 [20.4|76.6 178 | LA #sh 48 | 56 | 104 (26.4|77.6| |208|)I1& B 58 | 53 | 111 {32.4|78.6
119 [ XA SCFN 54 | 54 | 108|32.4|75.6| |149|#% & 47 | 50 | 97 |20.4|76.6| | 1797/l 1ERE 50 | 54 | 104 (26.4|77.6| [209|f4 HE 60 | 57 | 117 [38.4|78.6
120|#2K &iE 44 | 45 | 89 |13.2|75.8| |150|@THH 5HER | 57 | 52 |109(32.4{76.6] |180|==%E X 61 | 55 | 116 [38.4|77.6| |210|L#k 5LEA 47 | 45 | 92 |13.2]|78.8
121 |/Ng 6t 46 | 43 | 89 |13.2|75.8 151 |kt e 57 | 58 | 115 |38.4|76.6 181 |FH EX 42 | 49 | 91 [13.2|77.8 211 |FH BE& 53 | 45| 98 |19.2(78.8
122 [H1R K 40 | 49 | 89 |13.2|75.8| |152|HF K— 46 | 44 | 90 [13.2|76.8] [182| KT #xX 52 | 51 [103]25.2(77.8| |212|#AH IFit 52 | 46 | 98 |19.2|78.8
123 |/l & 47 | 42 | 89 |13.2|75.8| |153 |7 7] 45 | 45| 90 |13.2|76.8| |183 |k #ME 56 | 59 | 115 [37.2(77.8| | 213 |#EA & 52 | 52 | 104 (25.2|78.8
124 |fEiE =5 48 | 47 | 95 |19.2|75.8 154|588 =/ | 43| 47 | 90 [13.2|76.8] |184|FEH &7 40 | 44 | 84 | 6.0 [78.0| |214|FFE IET& 53 | 51 |104(25.2|78.8
125/ BEF | 52 | 49 | 101 |25.2|75.8 155 | 1ILA HBi& 46 | 50 | 96 [19.2|76.8 185 |B&E A 44 | 40 | 84 | 6.0(78.0 |215|8EH & 54 | 56 | 110(31.2|78.8
126 | ¥\ E&1F | 52 | 55 | 107 |31.2|75.8] |156|L0O & 55 | 47 | 102(25.2(76.8| |186 |78k & 50 | 52 | 102(24.0(78.0| |216|#& AF0 44| 41 | 85(6.0(79.0
12710 F5EJy | 43 | 45 | 88 |12.0|76.0] |[157|#dt FHic 55 | 47 [102]25.2(76.8] |187|/NIl {EE 54 | 48 [102]24.0(78.0| |217|kH 55—EB | 45 | 46 | 91 [12.0|79.0
128|M F5H 44 | 44 | 88 |12.0|76.0| |158|&EA &l 55 | 53 |108(31.2(76.8| |188|#k1L & 48 | 54 |102|24.0{78.0| |218|Kk&MN M | 44 | 47 | 91 |12.0{79.0
129 [t £F] 45 | 43 | 88 |12.0(76.0| |159|/~1kE FHi 51 | 50 | 101 [24.0|77.0| |189|fEIR =15%E | 57 | 51 |108(30.0{78.0| |[219|AKH E*X 48 | 49 | 97 [18.079.0
130 |AfR E== 38 | 50 | 88 [12.0]76.0| [160|&FH BIF 49 | 52 | 101{24.0|77.0| |190|&ER ¥ 54 | 54 |108(30.0({78.0| [220|f&H BE 48 | 55 [103(24.0{79.0




NEAL | BihE % i | #3¥ |Gross| HDCP | NET | |IEA |BiT&E £ R | #42 |Grosy HDCP | NET | |IEA | BiHE & R | #42 |GrRosy HDCP | NET | |IEA | BiHE & R | %2 |GrROSY HDCP | NET
221 | % AiE 55 | 54 109 [30.0{79.0| |251 |54 EFHEE | 61 | 54 | 115|33.6|81.4
222| BB RNF 57 | 52 [109(30.0|79.0| |252|JII%t {£— 51 | 56 [ 107 |25.2(81.8
223 |4 H 47 | 49 | 96 |16.8(79.2| |253|7 BEE 47 | 47 | 94 [12.0(82.0
224 |FEH FEX 54 | 54 |108(28.8|79.2| |254|f#H E£& 58 | 54 | 11230.0(82.0
225|800 & 57 | 51 |108(28.8|79.2| |255|5%H REi# 49 | 44 | 93 [10.8(82.2
226|HF Z— 44 | 51 | 95 |15.6(79.4| |256|/\i% Bri# 52 | 53 | 105 (22.8(82.2
227 | B35 ET 54 | 53 |10727.6|79.4| |257|it+ =& 48 | 57 [ 105 [22.8(82.2
228 |HH = 43 | 51 | 94 |14.4|79.6| |258|{EiE &ifT 60 | 56 | 116 |33.6|82.4
229|E1E 18 53 | 47 | 100 (20.4|79.6| |259|#EMH FEi& 58 | 55 | 11330.0/83.0
230|&%E #fE 52 | 54 |106|26.4|79.6| |260|EH HE—HE | 60 | 63 |123(40.0|83.0
231 |7 % 55 | 57 | 112 |32.4|79.6| |261|ATF ¥# 51 | 52 [103[19.2(83.8
232 | Bkt E— 59 | 53 | 112 |32.4|79.6| |262|&a0 JE— 56 | 59 | 115(31.2|83.8
233|&EH % 50 | 49 | 99 [19.2]79.8| |263|%&H A 60 | 64 | 124 (40.0/84.0
234 )1l #5 51 | 47 | 98 [18.0(80.0 |264 |9/l [& 56 | 56 | 112 (27.6|84.4
235| 7kt IEVE 57 | 53 | 110 [30.0|80.0| |265|FFE =X 56 | 59 | 115 [30.0[85.0
236| AN —k 55 | 61 | 116 [36.0{80.0| |266|HiO #hETF | 63 | 62 [125]40.0|85.0
237|MAA 2 49 | 48 | 97 |16.8]80.2| |267|dbJII KK 58 | 65 |123]37.2(85.8
238 |/l & 50 | 53 [103]22.8(80.2| [268|L7T & 52 | 55 [107]20.4|86.6
239|/E7k —EB 58 | 57 | 115 |34.8|80.2| |269|EH = 59 | 51 |110]22.8[87.2
240|¥HE BB= 49 | 47 | 96 |15.6(80.4| |270|#K EET | 69| 59 |128(40.0|88.0
241 |FfH E=E 54 | 48 [ 102 |21.6(80.4| (271 |%&H B 59 | 62 | 121]32.4/88.6
242|fk4 K HE | 56 | 58 | 114 |33.6/80.4

243 |5 —AB 58 | 62 |120(39.6|80.4

244 | Bz 53 | 48 | 101 |20.4(80.6

245|77H FHER 48 | 51 | 99 |18.0(81.0

246 |7k fE 61 | 60 | 121]40.0/81.0

247 | & & 51 | 53 | 104 |22.8]81.2

248|EH = 55 | 55 | 110 [28.8]81.2

249|/ka B 55 | 48 [103|21.6[81.4

250/ EA 54 | 55 109 |27.6[81.4




